RAMP D3

P.I. STA. 420+57.9]
A=16° 46" 577 (RT)
Dc = 4° 00’ 00”

R = 1,432.39’
r=21.29
L = 419.56°
E =15.50°

P.C. STA. 418+46.61
P.T. STA. 422+66.17
Cpan - 0.046

Ves = 45 MPH
WIDENING = N/A

P.I. STA. 428+05.03
A= 13°15" 51" (LT)
Dc = 4° 45” 00"

R = 1,206.23"
I =140.25°
L =279.25
E = 8.3

P.C. STA. 426+64.78
P.T. STA. 429+44.02
= 0.032

Voo = 30 MPH
WIDENING = N/A

RAMP D4

P.I. STA. 604+54.52
A=16° 467 57" (RT)
Dc = 4° 02° 02"

R =1,420.39’
I =209.52°
L = 416.05’
E =15.37

P.C. STA. 602+44.99
P.T. STA. 606+61.04
Cuan - 0.046

Ves = 45 MPH
WIDENING = N/A

P.I. STA. 608+45.45
A=14° 337 327 (RT)
Dc = 8° 00’ 00"

R = 716.20°
I = 91.48’
L = 181.98’
E =5.82

P.C. STA. 607+53.97
P.C.C. STA. 609+35.95
Couuxy = 0.048

V.. = 35 MPH

DES

WIDENING = N/A

P.I. STA. 611+09.03
A= 74° 07 11" (RT)
Dc = 25° 007 00"

R = 229.18’
I =173.08’
L = 296.48’
E = 58.0I

P.C.C. STA. 609+35.95
P.T. STA. 612+32.43
4y = 0.055

V... = 25 MPH

WIDENING = N/A

MID TOWN

RAMP D6

P.I. STA. 802+75.37
Ls = 198.00'

8s =47° 16" 08” (RT)
LT = 137.04’

ST = 70.60’°

x = 184.94°

y = 51.867

k = 96.80’

p = 13.29’

r.S. STA. 801+38.34
S.C. STA. 803+36.34

P.I. STA. 806+09.35
A= 132° 32° 447 (RT)
Dc = 47° 44" 47"

R = 120.00’
I =2r3.02°
L =277.60°
E =178.22°

S.C. STA. 803+36.34
P.T. STA. 806+13.94
pur = 0.056

V.. = 20 MPH
WIDENING = 2°/L ANE

P.I. STA. 809+25.92
A= 58° 307 437 (RT)
Dc = 24° 45’ 00”

R = 231.50°
I =129.68°
L =236.4I"
E = 33.85°

P.C. STA. 807+96.25
C.S. STA. 810+32.66
= 0.060

Voes = 30 MPH
WIDENING = 5.25'/L ANE

P.I. STA. 810+83.16
Ls = 150.00’

8s =19° 41" 15" (RT)
LT = 100.56’

ST = 50.5I

x = 148.43’

y = 16.08’

k = 74.74°

p = 4.03

C.S. STA. 810+32.66
S.C. STA. 811+82.66

P.I. STA. 813+79.17
A= 7°50" 547 (RT)

[.R. 30 WB

P.I. STA. 217+66.15
A= 79°0I" 297 (LT)
Dc = 4° 15" 00”

R =1,348.14"

Ls = 520.00’

6s =11° 03" 00"
LT = 347.347

ST = 173.95°

x = 518.07°

y = 33.34’

k = 259.68’

p = 8.35

Ac = 56° 55" 297 (LT)
Lc = 1,339.40°

[.R. 90 EB

P.I. STA. 216+51.56
A= 78° 58 347 (LT)
Dc = 4° 15" 00”

R =1,348.14"

Ls = 520.00’

6s =11° 03" 00"
LT = 347.347

ST =173.95°

x = 518.07"

y = 33.34’

k = 259.68’

p = 8.35

Ac = 56° 52" 34”7 (LT)
Lc = 1,338.26"

Ts = 1,378.37° Ts = 1,377.40° o STA
Es = 410.13° Es = 409.52 > 90 wB
7.S. STA. 203+87.78 7.S. STA. 202+74.16 N c [.R- \
S.C. STA. 209+07.78 S.C. STA. 207+94.16 2 ATCHLIN A=
C.S. STA. 222+47.18 C.S. STA. 221+32.42 T M _ &)\ \\ &
S.T. STA. 227+67.18 S.T. STA. 226+52.42 2 _— 1\
€puyy = 0.060 €puyy = 0.060 al — b N
Vs = 60 MPH Vs = 60 MPH S T \\ R A\
WIDENING = 1.125'/L ANE WIDENING = 1.125'/L ANE R W \\
g 2 \
- \ - !
- ! \
g \ \\'\ \ "\
.\ \ \ F;\U 1 \ \
\\ R O ‘ l
AN I \
AN \ R / A
\ \ \ v \8’\ N
VL N\
i | \\ \ S 58/ )
o s
A4 T B RAMP D4 ' \% / //
Sl NS
: v Z /
STA. 53+54.48 EAST 24TH STREET = NN g >
STA. 615+36.07 RAMP D4 S\ *\ A — ~ -
STA. 53+26.70 EAST 24TH STREET = \q — = _
STA. 700+00.00 RAMP D7 - = =% =—— <
~ o l‘4’,/—’ L NN
___,/ = / e T — T
7 9 7 ,STA. 428+20.64 RAMP D3 =
! ® // , _STA. 809+74.62 RAMP D6
11\
el / B RAMP D3
B RAMP D7 i B RAMP D6

STA. 50+00.00 EAST 24TH STREET =

B EAST 24TH STREET

STA. 19+18.49 CHESTER AVENUE

= o ’ ” '5 -
Dc = 2° 00" 00 5
R = 2,864.79" P
= 196.51 L —
L=392.4r0 v —— B CHESTER AVENUE
E=6.73

S.C. STA. 811+82.66
P.T. STA. 815+75.07
pu = 0.030

V.. = 45 MPH
WIDENING = N./A

CONNECTOR SB

P.I. STA. 51+54.10
A= 45° 007 057 (LT)
Dc = 30° 00’ 00"

R = 190.99’
r = 79.1r
L =150.00°
E =15.79’

P.C. STA. 50+74.98
P.T. STA. 52+24.99
Cunr) = 0.016

Voes = 25 MPH
WIDENING = I'/L ANE*

P.I. STA. 53+98.36
A=42° 122 257 (RT)
Dc = 30° 00’ 00"

R = 190.99’
r=73.7I
L =140.69’
E =13.73

P.C. STA. 53+24.65
P.T. STA. 54+65.34
Cuuxy = 0.016

Vs = 25 MPH
WIDENING = I’/L ANE *

P.I. STA. 57+22.73
A= 62°22" 307 (RT)
Dc = 23° 24° 42~

R =244.73’
I =148.14°
L = 266.43°
E = 41.39°

P.C. STA. 55+74.59
P.R.C. STA. 58+41.02
e(MAX): NC

Voes = 25 MPH
WIDENING = I'/L ANE*

P.I. STA. 53+24.78
A= 39° 357 21" (T)
Dc = 24° 37" 07"

R =232.73°
I =83.76°
L = 160.8I"
E =14.62°

P.R.C. STA. 58+41.02
P.T. STA. 60+01.83
e(MAX): NC

Vos = 25 MPH
WIDENING = I'/L ANE*

P.I. STA. 62+88.20
A=19° 327257 (LT)
Dc = 8° 04" 03”

R = 710.20°
I =122.29’
L =242.2I
E =10.45°

P.C. STA. 61+65.90
P.T. STA. 64+08.11
e(MAX): NC

Vs = 25 MPH
WIDENING = N/A

P.I. STA. 67+16.10
A= 12°25 557 (LT)
Dc = 4° 00’ 00”

R =1,432.39°
I = 156.0r

L = 310.80°
E =8.47

P.C. STA. 65+60.09
P.T. STA. 68+70.89
e(MAX): NC

Vos = 25 MPH
WIDENING = N/A

B EAST 22ND

STREET

BEGIN CONSTRUCTION

CARNEGIE AVENUE

STA. 52+99.65

* CURVE WIDENING WAS VERIFIED
BY USING AUTOTURN. AUTOTURN.DGN

HAS BEEN INCLUDED IN THIS SUBMISSION.

; S2I°02 37" E
| POT STA. 800+00.00

p— -

STA. 25+27.30 CHESTER AVENUE =
POT STA. 430+64.11 RAMP D3

STA. 25+39.57 CHESTER AVENUE
POT STA. 68+70.89 MIDTOWN H
CONNECTOR SB

STA. 25+80.56 CHESTER AVENUE
STA. 8i12+37.26 RAMP D6 bt

STA. 26+45.85 CHESTER AVENUE =
STA. 229+31.66 [.R. 90 WB

1
G2

STA. 23+84.32 EUCLID AVENUE =
A. +b4. . W

PLAN -

CLEVELAND.

INNERBELTFLAN

CHID DEPARTMENT CF TRANSPORTATION

CONTRACT GROUP 5
SHEET 1

00 . .
5+00- 0 200 APRIL 1. 2010
-JON 23 Ty 200 21 56° - —
. e e DRAFT
\ :\.\ \ B RAMP C2
\ 7 B RAMP C4
B I.R. 90 EB RAMP C1
I‘ B 1.R. 90 WB P.I. STA. 904+42.90
\‘ % A= 30°57 547 (LT)
1= STA. 1010+31.26 RAMP C2 = De = 3° 357 00"
N, 1 [STA.T102%69.76 RAMP (4 . R -1598.95
A STA. 27+24.23 CHESTER AVENUE = Do T = 442.90°
il [STA..228+77.09 I.R. 90 EB Lot e =T T — L = 864.14"
m"‘ ———— __‘\ ! _ - - —_ - - ’
-} STA. 27+83.55 CHESTER AVENUE = R e e £ = 60.21
= STA. 1007+45.17 RAMP C2 e W et na P.C. STA. 900+00.00
A _ e B P.C.C. STA. 908+64.14
SN | ferSTAT28+35.27 CHESTER AVENUE 5=~ N
AR POT STA. 68+20.72 MIDTOWN CONNECTOR NB :
- - P.I. STA. 910+20.99
NI STA. 28+47.45 CHESTER AVENUE—= A= 10° 567 46" (L T)
§\\ X POT STA. 1100+00.00 RAMP C4y'1 Do = 3° 30" 0O
VAR STA. 28+85.02 CHESTER AVENUE = R =1,637.02
\ ¥ FOT STA. 920+87.35 RAMP Cfg; T = 156.85’
‘ | 3 L = 312.75°
\ E = 7.50
A\ L P.C.C. STA. 908+64.14
\ - P.C.C. STA. 911+76.88
\ ~
G £ — Counn = 0.048
) ——30- - — STER AVENUE Vi = 50 MPH
AEAE /< sS — T WIDENING = N/A
D s ~ - = - -

\$ \
|

MATHER! \ g \\

MANSION \ |

o
.

SN 5° 5271434 W
\\% / [
\
\

4t \
la \/ / / 3 ,‘\
ldL ) \ - m
\ \ \ % \ Vo A
\ | / - wn -
\ \\ 4 \ | \ | i | L —
\ \ B RAMP [C1 Q
: j ! ' —
/// / ' X
\ / ; W
2 =
O\ 7 m
\ s =
\ \ = \ 7 .
\ / "L
\ / ’
\ \ 3 )
\ \ )(/ / Lol
\ \ \ , \,_
N\ Yy s
\ ! Y / ==
\ / \ '/// m
Y v\ B RAMP C2 5
\ \ / v .
| \
R VAL 19 =
\‘\ LARA\Y \\ \ o
\ \ N
| \|\/l I “\\‘ >
l

T T
_
e —
== p—
_
=

A= 84° 56 397 (RT)
Dc = 229° 107 59”

R = 25.00°
r=22.89’
L = 37.06’
E = 8.89

P.C. STA. 11+01.80
P.T. STA. 11+38.86

P.I. STA. 12+49.99
A=4°27 287 (RT)
Dc = 28° 38’ 52~

R = 200.00’
r=17.78"
L =15.56"
E =0.15

P.C. STA. 12+42.2]
P.T. STA. 12+57.77

A=47° 00 047 (LT)
Dc = 57° 177 457

A=5°33700"(T)
Dc = 3° 00" 00”

R = 100.00’ R =1,909.86’
I =43.48’ r=92.57

L =82.03 L =185.00°
E = 9.09" E =229

P.C. STA. 20+86.15
P.T. STA. 21+68.18

P.C. STA. 569+39.85
P.R.C. STA. 61+24.86
Cuan = NC

Voes = 30 MPH
WIDENING = N/A

P.I. STA. 62+16.58
A=5°29" 57" (RT)
Dc = 3° 00" 00”

R =1,909.86’
r =917z’

L =183.30’
E =220’

P.R.C. STA. 61+24.86
P.T. STA. 63+08.16
Cuan = NC

Voes = 30 MPH
WIDENING = N/A

ALONG CHESTER AVENUE, MATCH
EXISTING GRADE FOR-RESTRIPING FROM
- STA. 30+80.00 TO STA. 32+89.93

\

()
STA. 60+99.28 MIDTOWN CONNECTOR SB = 1[N \ | R
STA. 22+18.27 EUCLID AVENUE % S L —— YVENE -
' L 1] L - — " puctl Vo
g | M H—
.§ | I y
ST . HERIT 4\ S | ~.STA. 25+88.10 EUCLID AVENUE =
B EUCLID AVENUE I S STA. 9/3+26.04 RAMP CI .
L /J,ﬂ* D == "1 ||]! / [A, 25+30.81 D AVENUE =
} - 80° 55 NG L, STA. 60+59.5] MIDTOWN\CONNECTOR NB
N ) g R I ER N R Y STA. 24+76.46 EUCLID AVENUE =
L N L X STA. 221+14.36 [.R. 90 EB o
L — o / { 1 Q/-/’I' (. I‘l - 9\
A — - o . / L A Ny
L — = S 2o N B MIDTOWN CONNECTOR NB %
4— B MIDTOWN - A0SR N L iRk ) NG
CONNELTOR S5 - D T EL | STA."909+89.56 RAMP C] - e
% ERA M Fy ") y : STA. 57+36.50 MIDTOWN S
7T A ) P , CONNECTOR NB &
/) Py ~ / ' ~
VS Ry TR Do e STA. 24+61.38 PROSPECT AVENUE = N
A a] \ ) i - WAL STA. 55+64.64 MIDTOWN ~ L
l=f L / N /,/7// |/ connECTOR NB =
="/ e \ / ! . B N _—
STA. 22+03.56 PROSPECT AVENUE = R NI | \ ' ——— -
' v \ ‘ / / A ‘ . = — J— _— J— |
- STA. 216+43.89 I'R. 90'WB < I /1 : L s 5
2 oy N A i " L —=qUE = \
= \ [ ; VA /) | ! dfeo— A —=pr(CT AVENUE__—, \
" N Iy . = b — PROSPEE- = ' b
> N /1°“5/& 24y y 7] s ‘- |
- B PROSPECT AVENUE AT N M 7 ya / > \ \ \\
- \ \ LN X L/ 7 L 7% N 8° 42 56" E \ ‘
© | | Lo E A A ]/, 7 LN STA. 23+96.11 PROSPECT AVENYE = '
2 e N - N 80° 565 / f 1] O/ STA. 907+97.52 RAMP CI \;
e L — - R Ny ' (8 \
\ : = L — — \ 1 IR, ’/ NS STA. 23+21.86 PROSPECT AVENVE =
L — e ‘ ! /) , /Y \ STA. 215+97.97 I.R. 90 EB  ©
o e _— B _ —_— ‘I" // / / \ |
— == . STA. 19+63.01 PROSPECT AVENUE = / 14 , T %% \
= STA. 55+19.83 MIDTOWN / 4 lod 7 4 B RAMP CI \
o CONNECTOR SB A4 /o, | \
N : y : L RSTA.\212+47.58 [.R. 90 EB =
\\ G | g;ﬁ. 2?;,29542453%[%’%@ M%ONNE_ CIOR 5;@/ /7, 2 ’/Z / f STA.\51+81.99 MIDTOWN CONNECTOR SB
N | | Y S 1 TAL 903+80.68 RAMP Ci =
' ¥ S S ; TA./51+55.69 MIDTOWN CONNECTOR SB
SR \ B 1R 9G wB- /) ’///’ DA AN -
X STA. 60+58.9]1 CARNEGIE AVENUE = '~ ﬁ L /0, % PN (19 58 430 W = —— -
! o . / — _ - —
m g+57.23 STA. 209+57.60 1.R. 90 WB S N o NI e
™ | poT STA- 3 S 7 - %6;' - ——
) . 7 —= _ - 0
STA. 53+24.65 CARNEGIE AVENUE = N/ IR Lt == - = —— N-80 |
A\TER! POT STA. 37+30.94 EAST 22ZND STREET I\ 7 S = = - ‘ \
zL | / =% Z— —_ A\ \_STA. 65+12.99 CARNEGIE AVENUE =
S\ B CARNEGIE AVENUE N\ 2~ = 7\7 = N — % .POT-STA. 50+00.00 MIDTOWN CONNECTOR NB
R 72 R — = s S - M
G\ —— - T 7 2 7N\ \ STA. 65+00.00 CARNEGIE AVENUE = MIDTOWN
RS\ —— - N\ —— - - & N\ 03 \g5E W . POT.STA. 16+62.46 CEDAR AVENUE CONNECTOR NB
=2 —— -55 - = e o) f S STA. 64+88.99 CARNEGIE AVENUE =
- = - = P L 0 - \ POT STA. 50+00.00 MIDTOWN CONNECTOR 5B P.I. STA. 51+47.42
12 — : \ s s Ve Ve - e k - o ’ ”
= > p : /t/ AN 4 \ : STA. 13+39.30 CEDAR AVENUE = A= 40° 41" 36" (RT)
- - P L AN e NN POT STA. 21+94.25 JOVENILE Dc = 29° 20° 00”
L T A 7~ oy \ ' JUSTICE CENTER DRIVE, . | - R =1 /
| ey 7z e s ; \\ \ N T e 95.33
M\ S 56 - f i B I.R. 90 EB | N e CEDAR AVERZ — r=r2.43
IR (S N T /} e+ - = L = 138.73
\ = \ N B A £ - o0
P B PR — X P.C. STA. 50+74.98
L A o R —x N 33° 49" 03" E P.T. STA. 52+I3.7]
\6'&2 S g ;O;/ = Za \/:15;{/ — //.7'///.7/. Cmax) = 0.016
~ 7= 9',,’ /, /\;,,A' — — //_././"(‘/. @ CEDAR AVENUE VDES = 25 MPH
. %@ 2 T T " . WIDENING = I'/L ANE *
' P e B JUVENILE JUSTICE =
. 2t . CENTER DRIVE >
= © X 76 ' STA. 63+21.54 CARNEGIE AVENUE = S P.l. STA. 59+66.15
ATYO N STA. 301+73.02 RAMP CT S A=29° 53" 57" (LT)
D s S Dc = 29° 20 00”
O= =&\ = 0+00.00 STA. 62+57.88 CARNEGIE AVENUE = _ ,
ZE 3T N\ ol par sTA] a STA. 209+78.54 I.R. 90 EB R =195.55
R NI\ X T =52.34°
o Aw e\ JUVENILE _ L =102.27
QUH>T o JUSTICE - 680
R CENTER '
C%?%%o P.C. STA. 54+13.85
o
=) P.T. STA. 55+16.12
T2 & JUVENILE JUSTICE S
VSR CENTER DRIVE CARNEGIE AVENUE Ve = 25 MPH
Z% o oes
O WIDENING = I'/L ANE *
S P.I. STA. 11+24.68 P.I. STA. 21+29.63 P.I. STA. 60+32.43

P.I. STA. 61+95.47
A=9°49" 497 (L T)
Dc = 2° 30° 00~

R =2,291.83"
I =195.38°
L = 389.82°
£ =8.3r

P.C. STA. 60+00.09
P.T. STA. 63+89.90
Cuman = NC

Voes = 25 MPH
WIDENING = N/A

P.I. STA. 65+86.15
A= 5° 09 047 (RT)
Dc = 2° 00° 00"

R = 2,864.79"

T = 128.87

L = 257.56

£ =2.90

P.C. STA. 64+57.28
P.T. STA. 67+14.84
e(MAX): NC

Vos = 25 MPH
WIDENING = N/A

P.I. STA. 9i13+41.07
A=19° 307407 (LT)
Dc = 6° 00’ 007

R = 954.93°
I =164.18"
L = 325.18°
E =14.0I

P.C.C. STA. 91I+76.88
P.T. STA. 915+02.07
uay = 0.055

V.. = 45 MPH

DES

WIDENING = 1.25°/LANE

P.[. STA. 318+52.25
A=5°09 047 (RT)
Dc = 2° 00’ 00"
2,864.79°
128.87°

= 257.56’

= 2.90°

P.C. STA. 917+23.38
P.T. STA. 919+80.94

m= 3
h

' Cuwy ™ 0.025

Voes = 40 MPH

" WIDENING = N/A

RAMP C2

P.I. STA. 1001+29.71
A= 7°07 297 (LT)
Dc = 2° 45" 00"

R =2,085.48"
r=129.71

L = 259.08"
E =4.03

P.C. STA. 1000+00.00
P.T. STA. 1002+59.08

P.I. STA. 1007+63.31
A=5°27 38" (RT)
Dc = 2° 30" 00"
2,291.83"

109.29°

218.42°

= 2.60’

P.C. STA. 1006+54.02
P.T. STA. 1008+72.44
Cpuxy = 0.040

Vyes = 50 MPH
WIDENING = N/A

m s 543
I

P.I. STA. 1013+63.18
A=15° 03107 (LT)
Dc = 4° 00’ 00”

R =1,432.39°
I =189.25°

L = 376.32°
E = 12.45°

P.C. STA. 1011+73.93
P.T. STA. 1015+50.25
Cpuxy = 0.046

Voes = 45 MPH
WIDENING = N/A

RAMP C4

P.I. STA. 1103+31.80
A=2°37" 00" (RT)
Dc = 1° 00’ 00~

R =5,729.58’
I =130.86’

L = 261.66’

E =1.49°

P.C. STA. 1102+00.94
P.T. STA. 1104+62.61
e{MAX): NC

Voes = 40 MPH
WIDENING = N/A

P.I. STA. 1109+49.72
A=2°29 37" (LT)
Dc = 0° 45" 00~

R =7,639.44"
I =166.27°

L = 332.48°
E =1.8rI

P.C. STA. 1107+83.46
P.T. STA. 11l1+15.94
e{MAX): NC

Vs = 50 MPH
WIDENING = N/A

CEDAR AVENUE

P.I. STA. 13+89.0]
A=90° 18" 30" (RT)
Dc = 239° 00 00”

R =197.57°
I =198.64°
L = 31.4I
E = 82.59

P.C. STA. 11+90.37
P.T. STA. 15+01.78
e(MAX): NC

Voes = 25 MPH
WIDENING = I'/L ANE




